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Boessen : (1) S00|Eses VDT (DR, IR0 HOBD0B0E. DB E0DT DFB0E

€3 DROTTR), D0 TS APHE 2835050 BDATHZOIV0E.

2) ©POTERE S000TN WoEEB R DoKreRE Do S VY Sord Voe
SPBR0 GDBIA0H0E. DBDEPOED DS SDABIA0B0R.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

grfo -1 / PART - 1
HE @ (1) o) DHoDH warenen (F°ansn. 15x1=15

(i) 2XES Teoid (DB sre Dol PR DBHEK @ JoDY 3
@S S8 H8ckn $00HS 23aa0d (FTPAE.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. 25308 2 B Lowdio :

(@) 5o Jghesd (b) 500

(@ 589 SQ5N@ (d) Do es8og Beero
The function of Cytokinin is to increase :

(a) cell division (b) differentiation
(c) cell elongation (d)  fruit initiation

2. B5) TPoR Dorroshned et SRl (RO e, Jorsa ?
(@) BoEsheH TE R e BETow
(b) CoEHneD of DeogS e ek BEEPaD
(€) BoEshnws G600 e BETown
(d) BoEshooes e tons etk JEEPad
Conduction of food materials does not take place in mature sieve elements because :
(a) Pores are blocked by callose
b) Pores are blocked by hemi-cellulose

(
(c) Pores are blocked by tyloses
(d) Pores are blocked by celluloses

3. S wered 3oy, Sodirressnos” $0od ERarE s Koy :

(@) 7 b)) 12 () 5 (d) 23
Number of chromosome found in gametes of garden pea plant :

@ 7 b) 12 € 5 d) 23

4. D00 B55° DOR eHRNERN0 3005080 FoRodrrdd QY B &SABTAT) ?

(@) GA (b) NAA () IAA (d) 2,4-D
What will you use to eradicate the unnecessary plants which grow with crops ?

@) GA b) NAA ©) IAA (d) 2, 4D




3 1333 (NP)
800 Trealh §'&Wy CCA, CCC, CCU 500ako o SOA éotnod.
(a) CCG (b)y UGA (c) UAA (d) AAG
Proline has four codons CCA, CCC, CCU and
(@) CCG (b)y UGA (c) UAA (d) AAG
€520, TR ESNT WD 2.5 :
(a) D30y (b) 3S°5eD
(€) b oy, d)  eIo0y,
Aeschynomene aspera is a :
(@) Mesophyte (b) Lithophyte
(c) Xerophyte (d) Hydrophyte

55559 DACTER0T H00BFoR DeaDod STGoR0 §od 2 5006 &ihd Bt :
(@) BEFEID (b)  nd

(c) =6 (d) &R

Enriched vitamin tablets are produced from the following organism for human
consumption :

(@) Mushroom (b) Spirulina
(c) Nostoc (d) Yeast

3050 FE50000 5,8 8006 0BOHT O 2

(a) &G (b) [OBEX0
() S5t (d) woBEHTEw
The root hairs originates from :

(a) Hypodermis (b)  Pericycle

(c) Trichoblasts (d) Endodermis
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10.

11.

12.

13.

300k, 67 ey EBALTOS” FETETT EIDOW BEwTOH0 :

(a) Srofer Sewromon (b) &y Serezromoo
(€)  D0BERTOR0 (d) $°0& Bererosion
The tissue generally present in all organs of plant is :

(a) Collenchyma (b)  Sclerenchyma
(c) Parenchyma (d) Chlorenchyma

2@AP-E285 8 0o 308 BF> 9

(@)  es500855 (b) PTOEHR eXFED

€ e 25O d) e RO
Bio-diesel is extracted from :

(a) Riccinus communis (b) Phyllanthus amarus
(c) Jatropha curcas (d) Jatropha gossypifolia

ARG e DT A PEFHOTED ?

(@) 55R damoood (b)  oid Bobabo @roes

(€) oD 200 Ad (d) e§ Boo BB TEd
Who coined the term biosystematics ?

(a) Carolus Linnaeus (b) Engler and Prantl

(c) Camp and Gily (d) George Bentham and Hooker

EPOIOED 2.5 &OErOe0

(@) ES ATBh&ER (b) G-3-P & Ea3%

(€)  EITYOID (d) 26708 TSR

An example for transferase is :

(a) Histidine decarboxylase (b) G-3-P dehydrogenase

(c) Transaminase (d) Pyruvic carboxylase
3085057S° 963065 THOAD RHORET 0.

(@) 20 (b) 10 (c) 17 (d 5
Duration of patent in India is years.

(@) 20 (b) 10 (c) 17 d 5



14.

15.

16.

17.

18.

19.
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S50 H5BBE Go0n SOA :0ea0d.

(a) 2050 (b) TGS

€ oz Sotr d)  @dS
possesses anticancerous properties.

(a) Basmati (b) Marmelosin

(c) Vinca rosea (d) Brazzein

Leresidy H0AAT BALEH Eod BBONBY0ed” OB IrHyT SOEEIRA ?
Qe oy

(a) 400 nm &350 700 nm ST (b) 700 nm &500¢ 900 NMO H5TE>

(c) 100 nm &550¢ 200 nm ST (d) 200 nm 2006 300 nm DSBS

Which of the following wavelengths of light is most effective for photosynthesis ?
(@) 400 nm to 700 nm (b) 700 nm to 900 nm

(c) 100 nm to 200 nm (d) 200 nm to 300 nm

egrlio - 11 /| PART - 11

BoBTredE’ DPTe esto RHHOD wTe0ed @EAN0. (58 Sopg 24 SISO,

Answer any six of the following. Question Number 24 is compulsory.

SO GIa3%, DG T Eaboion.

Write the systematic position of Arecaceae.

Soth Tents D108 3005, Bedtso EP0Ko.
Write the binomial of two rubber yielding plants.

QAT CIY, Botk DB, TVR0P[ed O ?
What are the two unique facets of Bio-Patency ?

23305 g0l eAITTres O 9

What are the uses of gene mapping ?

6x2=12
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20.

21.

22.

23.

24.

25.

26.

27.

28.

5083000 DSDCH00.

Define transcription.

25055 DNA 8055708 S¢00io875) Jo@koonin o870,
Name the enzymes involved in making hybrid DNA.

3eresidy OGN B GB00%;, KoY BABBER0 FPAHIH.

Write the overall equation of photosynthesis.

08 FEOBANED Ho00K0 k08 TGO Ko JFT° Bothd E)5H00R 0K,

Write any two differences between photorespiration and dark respiration.

Fo0R07e35 BereeoRo0NE Ho0050 THE SePeRodtd B¢y Srrey Eak0N.

Differentiate meristematic tissue from permanent tissue.

eriio - III / PART - III

BoBTredS’ NPTe estho (RHHPI aTE0wd @O0, (58 Sopg 33 B

Answer any six of the following. Question Number 33 is compulsory.

Bogro 50000 T Ao, Bou,e SOSEEE DFT° KT IHENER AN,

Write any three merits of Bentham and Hooker’s classification of plants.

ROOTE{O SR, D500 BoB0T Py HOBBERD EROT800.

Draw the floral diagram and write the floral formula of Hibiscus rosa-sinensis.

OB I EFD LGS ?

How periderm is formed ?

ERrE 500 ATE0n @R T FFTTres 287,080,

Draw the structure of chromosome and label its parts.

6x3=18
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23305000 BIFOB0R0E0 DB S0 €:dhTBiomd 287D T3 Fovid EPoKoH8.

Write any three genetically engineered products and mention their functions.

65"&0& TPoh B0 5T DV 9
What is Richmond Lang effect ?

SaniS 5785y Gk, E0g ooy @Ak,

Write the medicinal value of Aegle marmelos.

2Ardsds” 5. O @rkopgs O 9
What is the importance of E.Coli in biotechnology ?

“C, Booeo 808 ey DOCTT GO Dy, ek BT, B g 00 S By
DEFLOEB0. D TR BHPOHH0.

“C, plants shows segregation of photosynthetic work.” State whether the statement is
true or false. Justify your statement.

griio - IV /PART - IV
V) RPFHOES 2T [EAT[0 5x5=25
Answer all the questions.
(2) S0P FBEOV0ITT 000 TPOSBETT SO0,
Gl
(b) 3000 T A0 ? FHVCD0 GI0E, DFT° TR0 DB E0T0N00.

(@) Describe the flower of Musa Paradisiaca in technical terms.

OR
(b) What is Herbarium ? Write any four significance of herbarium.

(2) TS DoABBNOP ORHVT s F°CI0R00.
e
(b) D530 DI $H0es0en e DAY 9 TS TR 135,63 DBE00E ISB0ID0.

(a)  Write short notes on annual rings.
OR

(b) What are concentric vascular bundles ? Explain its types with neat labelled
diagram.
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36. (a) 0K SEETo DPVH GI0Y, FoEHES BErOor Eod HEBeDd Joy G008’
©923080Y:300 000 IXTED 0,

() DOTFED (i) Edsseo
(i) IOBOREI0 (iv) 2ocsessd EPEah
Sy

(b) 2BoDE esiorion NITRT Jor BOIGOBEE0E P HFAbos’ ANO0R0 ?

(a) Rearrange the following terms based on techniques of plant tissue culture and

explain.
(i)  Morphogenesis (i) Hardening
(i) Inoculation (iv) Embryogenesis

OR
(b)  Describe the process in which glucose is converted into pyruvic acid with the
help of Flowchart.

37. (a) 20T P0yed D DB DI00H,
e
(b) tRNA Jogasonsdy QB0 SPahod D58,

(a)  Write the significance of pentose phosphate pathway.

OR
(b) Explain the structure of t-RNA with diagram.

38. (a) (i) &> 00N OGO 9 I Q Kéa0erd Boteod.
(i) SR G0, DT 00 TS FroopgHoRe DB,
Sley
(b) DNA DSocEresshin oSS Doonhn. Tl Hkeks 28780500

(@) (i) What is the binomial of groundnut ? To which family groundnut belongs
to ?
(i) Bring out any five economic importance of groundnut.
OR
(b) Define DNA recombinant technology. Mention its events.
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